
CLASS – IV 

Prescribed Text Books  :  The English Channel Course Book 4 

     Enjoying Grammar 4 

SYLLABUS  

THE ENGLISH CHANNEL : LESSON 1 TO 6 

ENGLISH GRAMMAR : LESSON 1 TO 10, 18,19 AND 25 

COMPOSITION:- 

1) FORMAL AND INFORMAL LETTERS 

2) WRITE  A NOTE 

PATTERN  

1) COMPREHENSION  (5 MARK) 

2) TEXT BOOK              (10 MARK) 

3) COMPOSITION        (5 MARK) 

4) GRAMMAR    (20 marks) 

 

CLASS IV  : 

rstl&   ikB 1 ls 9 rd  

lgt fgUnh jpuk&  ikB 1 ls 7 rd  

ikB 17, 18, 20 (i= ys[ku) vkSj ikB 22 (vifBr x|ka'k)  
 

QUESTION PATTERN:  Max. Marks- 40  

rstl& 20 Marks lgt fgUnh jpuk& 20 Marks  
1& vifBr x|ka'k 4  

2& i= ys[ku 4  

3& iz'uksRrj 6  

4& dfork dh iafDr;kWa iwjh djks 2  

5& fdlus fdlls dgk 2  

6& 'kCn& vFkZ 3  

7& fjDr LFkku Hkjks 3  

8& lgh ;k xyr dk fu'kku yxkvks 2  

9& OkkD; cukvks 2  

10& O;kdj.k (Short Answer) 12  



CLASS IV  : 

Prescribed Text Book  :  Understanding Mathematics 4 
Chapters  

2. Extension of number 

3. Addition and subtraction 

4. Multiplication 

6. Numerals regional and Roman 

7. Kinds of number  

8. Test of divisibility.          

 

Question Pattern  

1) Fill ups.      (½ X 7 = 3½)  

2) Choose the correct answer.   (½ X 6 = 3) 

3) True or False.     (½ X 7 = 3½) 

4) Answer the following.    (1 X 10 = 10)  

5) Do as direct     (20 marks) 

CLASS IV  : 

Prescribed Text Book  :  General Science 4 

Lessons 1 – 9 
Question Pattern:- 

I.  Fill in the blanks:    (½ X 10 = 5)  
II.  Choose the correct answer:   (½ X 10 = 5)  
III.  State True or False:    (½ X 6 = 3)  
IV.  Name the following:    (½ X 10 = 5)  
V.  Match the following:    (½ X 4 = 2)  
VI.  Answer the following:   (2 X 10 = 20) 

 

CLASS IV  : 

Prescribed Text Book  :  Fragrance of Our Social World 4 

Syllabus: Lessons 1 to 10  

Question pattern: Max. Marks: 40 Time: - 1 ½ hrs  

I.  Fill in the blanks    ½ × 10 = 5  

II.  State True or False    ½ × 6 = 3  

III.  Match the following    ½ × 6 = 3  

IV.  Choose the correct answer   ½ × 8 = 4  

V.  Name the following    ½ × 10 = 5  

VI.  Short answer type questions  1 × 6 = 6  

VII.  Answer the following    2 × 7 = 14  
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